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Answer either in English or in Assamese

1. Answer the following questions in one word

or in one sentence each : 1x10=10
IS Tl 2RPTYES 2fOlbrR Teg b7 *Ft AT Q5T IS
o -

(@) Who was the ruler of France during the
French Revolution?

0! RN e o[ 951 & ke 2
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'(2) ( 3)

() In which year did Germany emerge as a
separate nation?

@ 50 ¥ 23T o 2ol wfiaE S

(b) Who wrote The Spirit of Laws?
The Spirit of Laws (FIcs 6+ et 2

(c) To which dynasty did Louis Philippe afee 2
belong?
]2 > Wc Wﬁ;{—c’[ ]
?fiﬁ?ﬁ ko] S ! 2. Answer the following questions in brief :
(d) Who i d the ‘S 2 2x5=10
o invented the ‘Spinning Jenny’: _
Fooffor caf? Pl SR <offee 2 e fiA 2PPTR DA O T
o was Necker?
() What did Rudolf Diesel develop? (@) Wh :
Fo fSrace] [ 2% I SRR ? A T e ?
(/’ Who patented the Kinetoscope’? (b) What was the Quadruple Alliance?
‘K_inetoscope’ @I LoD (patent) PR 2 E\Z’Zﬁq 7aPR9 (Quadruple Alliance) ey
w1fee ?
(g9 Who assassinated Archduke Franz
Ferdinand? talism?
i 1 1SI11
ST TG FRAGT PICT 29T PR 2 (c) What is cap
Sffera JC &2
(h) Who founded Young Italy’?
332 35141 CPICA o] PIRIRET ? (d) what was the Carbonari Movement?
ScieT (P SifReT 2
() Who founded the Irish Socialist Sl
Republican Party in 18967 el
srdy Be Irish Socialist Republican (e) Define SO CAaSS.
Party GFIC ZIFI 1% 2 e e 8 2
T O
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(4) (fs1)

3. Writ ‘
o lril e ; shf)rt notes on any four of the 4. Answer any four of the following questions :
owing : 5x4=20 # 10%4=40
OeTS fraTea<e & GRre BifRBE e[ 53 COre far werq 2RPTEd R GG BRI TS fersi -
(@) Voltaire | (@) Discuss the causes of the French
SO : Revolution.
r ) 2@ FRTHR S 4] |
(b) July Ordinance | () What was the role of women in the
‘ French Revolution?
TR LI
' il e ARerRes & i =ifee 2
!
|
} B (c) Writea detailed note on the ‘Continental
(c) Agricultural Revolution in England | System’. 5
eSS R [eE | AR TS q (RGBT =R, Gl 7 |
| (d) Analyze the causes of the failure of the
(d) Decline of Feudalism ‘ Concert of Europe.
NS <o STEAR G REFTON SR R w4 |
(e) What were the factors that influenced
(e) Zollverein the Industrial Revolution in England?
e iaﬁﬁfﬁfﬁﬁm%ﬁ@w@w{i%
() Discuss the causes and results of the
() Battle of Sedan Austro-Prussian War.
CRAT T3 g -oFfRa IR PN SP FONFERR SACAG
90 |
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(6)

(g9 Give a detailed account about the
Bourgeoisie.

AP e @bl 321D, (BT T |

(h) What changes were brought in the
social and gender structure of Europe
as a result of industrialization?
STONTR Folo  GEE WS HE e
TN ARFICA® FerEeRy ARao SHf2f=eT 2
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